||
!

RIVEEE HAREI(61E]) FrL o UiaSH

(K&a—FR18170757)

/A VI S
fie: SFUFHE FARE S

fi: FrE e IR ENE AP B TR E

FoOH
:

- FEH
BB ERES

T & Pk EEE S
H B PE304E6 H 23 A ()
AN

Y or B EN AR b RS (st =—R :173100)

=N

X
o
X

FHIR: VK JokE

s Bl KA
FLERE: PR A

€ Z DR TR TZREER

&«

L
O T RO T 4 g

=4 KA AR (°C) T (%) JEL ] JaleE

8:30 = 17.5 75.0 0.0m/sec.
9:00 = 17.5 75.0 i3] 0.2m/sec.
10:00 N 18.5 71.0 0.0m/sec.
11:00 = 19.0 76.0 JevE 1.0m/sec.
12:00 55 20.0 73.0 B[ 1.3m/sec.
13:00 = 20.0 76.0 F e[S 2.3m/sec.
14:00 F 18.0 90.0 0.0m/sec.




EHE

FHEMELHRBE

g BEFRENIREAFTTRERS
% FHM. FHETHREZES
REBREHE —ER
X F [3545:35) 173100 FEHFHHRSEH L [EB*J: kst
14z 2 fif 3 i 4 {1 5 {if 6 fiL 7 i1 8 fif
A/H i B BiE K& FhE i BREKB R i &% KB FE i BREKBFRE i BREKBRE i BREKB AR i R KBARE i xR KB AR i 5%
06/23 & TE #%0 Q) T.45
EE B LAES |
06/23 ,ﬁ7k &m(2> 2.70 B & () 2.70
e WAERS
06/23 ﬁ*EIE¥(1)4 80(-0.8) &HAT ZE(1) 4.52(0.0) 1¥E§ #22Z () 4.5000.0) | mBkERET 4.47(-0.7) EH YA 4.32(-1.0) 8 £E(1) 4.24(0.0) B BE(1) 3.15(-0.4)
FENE B =% RS 4 HIESS) FEHTAFIIR 7YY tEAES LHEAE
06/23 %*EI@%(I)]O. 15(0.0) |7 #% (3) 9.86(+1.2) f%lﬁ &< 5(19.30(+0.2)
=Bk EHX WAES RS
06/23 Hir EE(1) 9.72/=& £k (1) 4.71
A% B2HES RS
06/23 INE EF () 34.12
&% =
06/23 INE EF () 3.03 BH BE () 19.99 =i =mx(1) 13.34
Nv-#% WL WAEES BHEE
06/23 INEZF T /INE(6) 4.32(-0.5) BHEF Stk (4) 3.12() i ®EF4) 2.88(-0.3)
FE BBk % M@-751-y- =JIIRC = JIIRC
06/23 | F 54 R (3) 1.45 B 3 (3) 1.45 /% %A (3) 1.35| 53k BA(2) MAERIF 1.30 8 2A Q) 1.30
ES Bk s FH & B N BFEIQ)  Rlgd FHR
ZRGIRQ) REARIP
| AH @WFQ) FHS
06/23 IMRIE KHQ) 2270 5TF ¥0) 2.70 Jilug REE (3) 2.40 JIlE EBKQ) 2.40 [EHE Fiz (1) 2.3046:# mEFH (2) 2.20 2 BKR(Q 210088 B2 2.00
35729 R THRERG EBEEH 1iag B2 RASAC LTHERG =S a e
06/23 INR FHE () 4.94(-0.9) HAR P#6(2) 4.52(+0.4) =+ #MER) 4.49(+1.5) [ B EHF (3)4.49(+0.6) | LT (0E () 4.47(-0.1) |41L H¥F (3) 4.41(0.0)|[Fa FE Q) 4.38(-0.7) | Kl 122 (1) 4.36(0.0)
FENEBE Rig B/ FHBEFR EEME [f & R &R RIEHEER S FERE &/ HAEF FEIBH
06/23 wmE EHQ) 12.07 t2@H B2 (3) 9.93 %H BEQ) 9.65 FiF ZE(3) 9.31 #MiK B2 9.27 L8 B3 (3) 8.69 2iF %A (2 8.68 FAlE 3RF(3) 8.54
AR THREHRG REH EBmEET FHB Rlgo ZHAC Rigdh FEIBH
06/23 =" BREQ) 17.70
M2 % AT




XF [RE% 6H23H [ 9:30]
el
=
EEHk
R
IE6L B ton - E % B4 1m40] Tm45 4m50 8| BE
11 1532 £ #%U®Q)
Yor s [ 0 | XXO |XXX 1.45
2| 2062 LA (1) x5
5 at AATE
I—
FEXF [RB% 68238 ] 9:30]
e
=
Em Bk
R 1%
IBH Bt Fon - E % TR m;gmw1mzo1m251m301m351m4o1m451m5o1m55 B
1) 23 7159 44k ki (3) - - - - - 0 0 0 [xxx 1 45
193 I W50 ch .
2 19 8085 BWE FEH () - |- - = 0 0 X0 X0 |Xxx 1 45
3 £ Y FR .
3 22 8612/ %A Q) - - - 0 0 X0 |Xxx 135
Y Y% #y B '
4 9 7633 =ik BIHQ) 0 0 0 0 [0 [Xxx 1 30
Wi 19t B AR '
anyy Y Rlgd )
4] 17 7649 %[E ;TE(3) - = 0 [0 0 [xxx 1 30
BNy 1Y [FEAE &l :
4 21 8087 &A@ EF®) - - - -0 [xxx 130
w5 43 R0 '
8 10 7881 T4 EA (2) 0 0 10 0 XX0 XXX 130
ISE TR FEEER '
9 4| 8090 ¥ xE(1) 0 0 X0 0 XX0 XXX 130
73h7 7Y% R0 '
9 20 7797 fRE EE®Q) 0 0 10 X0 XX0 XXX 130
{493 748 KBRS '
11 7 7656 £ &=E(Q) 0 0 0 0 [Xxx 1 25
b 73 & B AR :
11 15| 5861 F&s &E Q) - 0 0 0 [xxx 1 25
M %/ TP '
13] 8| 8596 #AE = (3) 0 X0 10 [0 [Xxx 1 25
WD 3t &y B :
13 14 7658/ =ik BR=(2) X0 10 10 [0 [Xxx | 25
W4 194 ) 2 B &R o -
13 16 7798 /hFE EE () 0 [0 X0 [0 [Xxx 1 %5
1945 ht1 KBAh '
16/ 5 7856 BE #E () 0 0 0 [XX0 |XXX 1 25
g vh 3 Figch :
16] 11| 7079 &f @ BB (2) - 1010 [XX0 [Xxx 1 25
+he vt BT e '
18] 1] 7664 # mwE (1) 0 0 |0 Xxx 120
MYy Y B A B AR :
18] 12| 7650 JIE mZE (3) - 0 0 Xxx 120
1793 I3 A AR :
18] 18] 7802 T =5 (2) 0 0 |0 Xxx 120
YELDA D KBAch '
21 2 7935k HE & (1) XXO [ XXX 110
'y b E+R& '
3 7868 &% UED Q) R
NyTh EF) Rigdh
6 8174 &tH &/F (2 Ri5
405 v4h 5




XF [rE 6H23H [ 8:30]
el
=
755 2k
R
IBHz B o - K % g4 2m40 2m50 2m60 2m70 2m80| 3m40|3m50 Bk -5
1 2 254 5%7}$ BZ=(2) _ _ X0 0 XXX 2.70
Y3z’ 7211(-3) EiEE )
2 1 1977 Hp 3
‘ B+ v WAEES 0 XX0 0 XX0 XXX 2.70
3 9001 IR #As=fE - - o ACEREL
| NG a3h ARKE
4 9002 £/7 =% B M| et FAOEREL
#n3 1%t AMKE
Ay
AFEXF RE 6H238 [ 8:30]
el
=
7= 2k
B4 St o - E £ FEL ;m;lg ;rr:gg 1m80/ 2m00|2m10 2m20 2m30  2m40 2m50  2m60 8 BE
1 16 7890 /Mx#E %Er (3) - - - - - - 0 0 0 0 270
ANy 32 B 0 XXX )
2 13 4687|&T FE@Q) - - - - - X0 |- 0 0 0 270
1795 v LTHERG 0 XXX )
3 11 7650 JIIUE RE3E(3) - - - 0 0 0 0 0 XXX 240
1993 13 FEAE S i
4 9/ 71511l =k Q) - - - - - XX0 0 0 XXX 240
h3 W LA i
5 7 22 @EHE Fid 1) - - 0 0 XX0 0 X0 XXX 230
Thy" kT B2 HRARAC )
6 10 4678 dtiE mMEFE (2) - - X0 X0 |0 0 XXX 220
40 4% LTHERF i
7 5 6718|#AF EXK(2) 0 0 0 1] 0 XXX 210
WD 14 =4 )
8 4 7155 BB BZE(2) 0 0 0 0 XXX 200
VAL b 138 )
9 1 6713 5FE BKE(2) 0 0 0 X0 XXX 200
Y #0 =4 i
9 14 213882 =1E@Q) - - - X0 |- XXX 200
0y 3Y B FHIRASAC )
9 15 7158 &Il & () - - - X0 |- XXX 200
5209 % WA )
12 2 8164 HiE HFK@Q) 0 0 XXX 1.60
T M 5= )
13 3 6716 L& =F(2) 0 XX0 XXX 1.60
h3Y am Asba =i i
6/ 7157\ &H Q) R 35
WYY b9 W
8 8689 #&fA & <H(2) Ri5
94 A9 3 R
121 8691 & D&% (2) Ri5
Yayh'm 133 BEe




%7
E 5Bk

R B
W B - & &
1 6 30 IBAREEF ()

3 4
4 17
5 5

NEh ¥Y3

2 3 144 EF EQ)

vh7 74

55 Rk =2 (3)
1M 1k

33 AR EHRFT
13 3t

6EH YA
N

6 2| 1538/ X&)

hy' v 319

1 1 1531 &% wE(D)

bh) 4%

ik
EHX
BAaRS
HHE S
FHTAFIIA
1779y
LtEAS
LtEAS

-92-

4.39

4.50
0.0

4.24

3.15
-0.4

(R

68236

79:30]




hZEZF (B 6H238_11.30]

TE Nk

R

B4 B Fon - K # g4 -1- -2- -3- -4 -5- -6- kg EE

1160 7841 /nék FiE (3) 486 4.94  4.71 4.94

vy Fem Rilgdh -0.2 -0.9 0.0 -0.9

2 52 5872 HK B4 (2) X 4.52 X 4.52

| [THE 41 &) FHAR | +0.4 +0.4

3 b3 7949 =#F #bME(3) 449 X 4.42 4. 49

| 347 SEENE +1.5 +0.5 +1.5

4 54 8761 hE X4HFQ) X | 438 4.49 4. 49

| ThY Y $¥h 8RR ER . -0.1 +0. 6 +0. 6

5 47 4392 L% LE () 4.47 413 | 4.07 4.47

| w1/ a7 R ER -0.1  +0.5 -0.1 -0.1

6/ 61 7873 &1L %Fi(3) X 4.4 X 4.41

| 9T YA FERED 0.0 0.0

7 41 5861 F& & Q) 4.38  4.23 3.93 4.38

| Mot &/ Hmh -0.7  +0.9 0.0 -0.7

8 28 8092 X (ZZ (1) X 4.36 4.02 4.36

4% =3 FH 0.0 | +0.5 0.0

9 58 77717 ’hﬂﬂl% %iE ) 4.27 4.35 4.21 4.35

YI¥3 bt FREAE +0.8 +0.9 0.0 +0.9

10/ 55 4675 FE BHF (2) 4.33 4.28 X 4.33

g LTHERG -0.4 0.0 -0.4

11 43 7872 A% & (1) 4.33 4.02 4.21 4.33

WE NI FEEE -0.3 0.0 +0.3 -0.3

120 420 7952 I\ (RE= (@) 4.16 4.27 X 4.27

9 1t K& -0.7 +0.7 +0.7

13) 35| 7202 ;&I £53% (3) X 4.24 4.15 4.24

119 23"+ EHt -0.4 0.0 -0.4

14| 37| 5869 A3 L& (2) 4.22 3.99 4.04 4.22

191 #1 &/ FHAR 0.0 -0.9 0.0 0.0

15/ 45 7150 70k &FHHE Q) 4.19 X X 4.19

fbo 71h WA -1.2 -1.2

16/ 56 8708 3Ll %I (3) X X 4.18 4.18

WYY 19 1A 0.0 0.0

17/ 29 8006 FH =4k (3) 4.04 4.17 4.04 4.17

b3t Higo +1.2 0.0 -0.4 0.0

18] 38 8386 AT IBE (2) 4.16 X X 4.16

WY Nt EaT -0.9 -0.9

19 44 8019 /J\EII'"J =) 4.14 4.08 4.02 4.14

T4 i EiEmh +0.6 0.0 | -0.1 +0.6

200 39 8598 ‘r’rﬁ F¥REQ) X 4.14 4.07 4.14

45h3 13 Zy ES +0.7 -0.3 +0.7

21 33 7870 A# EXK () 4.14 3.80 4.04 4.14

447 14 FEERED -0.3 -0.7  +0.8 -0.3

22| 57 4184 EiB 1ExE(2) X X 4.10 4.10

AN R AT £ HAC -0.2 -0.2

23 20 7582|RAI FETHEE(2) 3.94 3.93 4.03 4.03

9Fh7 &/ h ] & Fa & +0.6 0.0 -0.1 -0.1

24| 25 7847 FEH EX=E(1) 4.02 3.60 3.68 4.02

Ny 313 Rilgdh +0.5 0.0 0.0 +0.5

25/ 30 8017 M FRE (1) 4.01 3.56 3.72 4.01

Lh4¥% TAh Higd +1.5 0.0 -0.1 +1.5

26/ 31 7107 8RS T (2) 4.00 3.89 3.88 4.00

149" 7% [N +1.4 -0.2 +1.0 +1.4

27| 34 5858 RIE {£m(3) X 3.99 3.42 3.99

T g hty &/ FHAh -0.4 +0.5 -0.4

28| 36 7774 fiE IBK(3) X 3.97 3.93 3.97

Y M Hiilsake -0.6 0.0 -0.6

29| 21 5871 ithA E4£ (2) 3.96 3.79 3. 86 3.96

174 "t &/ FHAEF +0. 1 0.0 0.0 +0. 1

30/ 24 4690 t2@ 2 (3) 3.89 3.80 3.76 3.89

795 714 LTHERG -0.8 0.0 0.0 -0.8

31 11 8094 A mBETH (1) X 3.63 3. 87 3.87

A #¥/ FHB +0.2 -0.5 -0.5

32| 26 5865 FTikF EHZ(3) 3.79 3.86 3.82 3.86

Nk &/ FHH +0.9 0.0 +0. 1 0.0

33 9 7658 B EBHZE(2) 3.48 3.83 3.58 3.83

¥y a9t [ & R ER -0.9 +1.2 0.0 +1.2

341 14 8091 &R mz=EF1) 3.82 3.178 3.76 3.82

AVE hfa F3B +0.6 0.0 0.0 +0. 6

35 120 8090 E#f xxZE(1) 3.82 3.60 3. 67 3.82

h3h7 7Y% FaB -2.17 0.0 -0.2 -2.7

36/ 46 8050 KK #£A (2 X | 370 3.00 3.70

| THE 1% HER . +0.3 0.0 +0.3

37 49 8765 =i F#(3) X X 3.70 3.70

[3h 94 FEAE & , 0.0 0.0



hZELF

TE Nk

B4 B Fon - K 4 g -1- -2- -3- -4- -5- —6- EE wE
38| 48 7649 &R ;IFL(3) X 3.69 2.48 3.69
hng 1)) A EE +0.9 0.0 +0.9
39 7 7118 EA EEF(A) 3.65 3.67 3.59 3.67
49" F A3h LA -1.2 0.0 0.0 0.0
40 3 8093 HE =7t (1) 3.41 3.53 3. 66 3. 66
AN 5 T4h FB -0.1 -1.0 0.0 0.0
41 17 7564 e/ ZE¥ (1) 3.64 3.48 3.59 3.64
_ ntth AR A P &6 0.0 | +1.1 0.0 0.0
42 27 1867 EZE #H3) X 3.56 3.62 3.62
| o4y E1 Figh 00 0.0 0.0
43 32 7109 FiF #1%1(3) X 3. 4 3.62 3.62
| TYh M [Nl -+ 0.0 0.0
44| 22 7840 INE EE=(2) 3.50 X 3.24 3.50
| VY T Rilgd +1.0 0.0 +1.0
45 23 7657 K B (2) 3.49  3.19 3.30 3.49
_ % 19 A it +0.7 00| 0.0 +0.7
46, 10 8095 ZUE ke (1) 3.46 @ 3.48 3.4 3.48
| AhY XD FA -1.6 @ +0.1 -0.1 +0.1
470 18 7119 st EL#H () 3. 47 3.34 3.39 3.47
Thh7 3+ LIREA +1.3 | +0.8 0.0 +1.3
48 15 b5866|!RE L&HY (2) X 2.75 3.40 3.40
5 U1 &/ Hmh 0.0 0.0 0.0
49 16 6338 @+t H&F (1) 3.3 3.20 3.31 3.37
Ab71% FiER -0.4 +0.6 0.0 -0.4
50/ 13 7563 4#fL & (1) 3.23 3.35 3.30 3.35
MY 19 ] & 75 &R 0.0 -0.2 0.0 -0.2
51 5 8097 =i #&E (1) 3.34 3.24 3.06 3.34
7§ 19 FA 0.0 -1.2 0.0 0.0
52 10 7640 EFH =) 2.92 X 3.24 3.24
454 70N ] & R &R A +0.8 0.0 0.0
53| 19 7937 #mII =) 3.13 2.88 3.07 3.13
Y47 394 ELXRdH +0. 6 +0. 1 +0.3 +0.6
54 6| 7660 A F#k () 2.82 3.00 3.07 3.07
ThEh F4Y [ & AR -0.6 +0.8 0.0 0.0
55 4/ 8098 ML FExEX) 2.71 2.82 2.83 2.83
hh4¥e +13 FA e -0.4 -1.5 0.0 0.0
51| 7645 @& #HE (3) X X X AEEREL
12" % RS-
2 5867 EHkE BT (2) R15
vk 1) &/ FAEH
8 8096 =:2 WA (1) Ri5
vV L FMep
40 5868 EEF fEFE (2) Ri5
7V 4 14+ B/ FHAh
50 7713 #hiZE EE%(3) R 35
YT Ik LWEAT
59 7862/#EH XA (2) Ri5
YA an% Rlgdh




Ik F

TE Nk

R
B4 B3 Fon - K 4
1 3 14 T /INE (6)
Y 3ty
21 20 RBEF ek (4)
| 1) 3%
3 2 1978 XET@
Ny I3

=t -1-
L X
FA5 1-y-

3.12
=JIRC
X

=JIIRC

4.217

0.0
2.60
-0.3
2.88
-0.3

[REE 6H238  10:30]
-5- -6~ ERE e
X 4.17 4.32
0.0 -0.5
3.06 | 2.78 3.12
+0. 1 0.0
2.64 | 2.64 2.88
0.0 0.0 -0.3



xF [REE 68238 14:30]

=Rk

R
JEGL B o - K % mE® -1- -2- -3- -4- -b- -6- Hks -3
1 3 0 BAEEF() 10. 15 X 7.83 10. 15
NEM Y3 EHX 0.0 +0.4 0.0
2 2 b5 {Fik &2 () 9.46 9.86 9.58 9.86
| 1M Ik WAES -0.2 +1.2 +0.4 +1.2
3 1 142 R &< (1) 9.30 9.15 X 9.30

yING #h3 FE 0.2 +1.2 +0.2



%7
AL % (4. 000kg)

R
B4z B FR Fon - K £ FfE4
1 2 1578 H EZE(1)
45 1 % AEFES
2 12018 =i =mk(1)
RelVIRES B

9.63 9.72| 9.53
477 4.57 ] 4.713

[REE 68238 13:00]
-6- | ECE% ik

9.72

4.77



hZELF

}z 2 72’/( EY: 6A23H [ 8:30]
AR (2. )
R B
B BB - K & FEA e e S R e o =5 S
141 4691 ﬂfﬁﬁm J— 11.54 10.67 12.07 12.07
2 zo‘ 7960;%5! %Zg(s) f— 9.21 9.93 9.93 9.93
3 21‘ 76‘4‘$§ftﬂ;"‘:(3) e 9.65 9.11 9. 65 9.65
i e .y
6| 35 418335;%7%?.2(3) R 7'41 7.73 8.69 8.69
| 91/ T4 ZAAC : : ' '
7 34‘ 7857‘7%;;% 5%721(2) . 8.68 8.46 8.38 8. 68
8 40 8085 ﬁﬂ?ﬁfﬁ@) J— 8.43 8.54 8.54 8.54
o Ml %‘% }Ei% © LEERS 8.45 830 854 8. 54
N T '
' ¥y £39h tHERS : : : '
12) 10| 7849 ;JI\\Zf::/b;fﬁ(B) Skt 8.13| 7.97  8.36 8.36
1317 7957 31;3';1??9&(3) - X | 7.96 8.33 8.33
14 12 7844 ;J};tt?;)gﬁi(ﬂ . 8.211 805 8 29 8.29
R o /3 E 815/ 792 X 815
16 33 7105 ﬁ‘uﬂ i%TjEj;Z) - 7.44 7.75 7.99 7.99
i Qﬁvﬁ;j@f&m AR .98 7.62) 1.8 7.8
i, e e :
% #/h &y B : ' ' :
20 7 7397 Eni E_c;m@) — 7.49  7.23 6.91 7.49
21 13 7166 ﬁ«% f’ﬁ(z) L 7.44 7.41 7.47 7.47
sl o e U8 T o
Thh3 313 R T : ' ' :
249 7871 ;';E 7%;(‘) — 6.69 591 7.16 7.16
25 29 7854 ﬁgﬁﬁﬁ%(z) Si 7.01 | 6.62 6.75 7.01
26 28 5863 ﬁﬁ ;Faljru(s) . 6.69 6.62 7.00 7.00
27 24 7633 jﬂﬂ% %?B(Z) P X 5.68| 6.70 6.70
287 26 5856 ;E Iﬁ)ﬁ%ﬁ@) N X | 6.56 6.25 6. 56
29 6 8603 %ﬁ{ﬁ%ﬁ(@ Gy i 6.05 6.17 6.45 6. 45
b, e T ;
199" F 4F EEeh ' ‘ ' '
32 22 7635 ,ﬁ,? ﬁﬁ%(Z) S 6.25 6.10 6 22 6.25
33 23 7848 ;J;\Zfic/'[a\;%};(l) . 5.34 5.76 5.09 5.76
34 2 7852 ﬁﬁﬂg’_,\%ﬁ” . 5.68 510 5.33 5.68
35 4 7855 mu/ﬁrj&(z) i 5.33 5.26 5 59 5. 59
36 1‘ 41393&&@3@(1) e 2R e 5.28 3.67 5.07 5.28
VS IR EEY  asmme X |[s2r]5H >




HELF

AR (2. 721kg)

JE L BB Fon - E % B4 “1- | -2- | -3 -4 | -5 -6- | EE | #E
38 25 7864 HUE $BE (1) 07 4.84 5.07

SR Eigch 1895 ,

8 793328 #HTF @A) Ri5
9 % U3 E+EH N

31 7634 # BE Q) Ri5
MY 13 i) 2% B &R R -

38 7841 /Nbk F#k (3) Ri5
' ¥y Fea Ril&d




xF [REE 68230 | 8:30]
R (1. 000kg)
R
NEL S Fon - E % FEA - - | 3 | 4 | 5 | 6~ | =& BE
o1 59 ;{‘\?ﬁﬁﬁm - 0 3412 X 3279 0 0 | 3412
HEZF RE 65238 8.30]
A (1. 000kg)
R
uLa{? é‘:t?iii %\7 = — E (g FEL - = 3 | 4| 55— | -6~ | = | fBE
R RS - 0 X 16491770 0 0 | 17.70




%F
nv-#2 (4. 000kg)

R
B4 B3 Fon - K %
13 591/ =E Q)
N Yy 144
20 2 1980 AH# BEZ(2)
| 191 Fh%
30 1 2018 =32 =Emx (1)
RV i1

BREE

[REE 68238 14:00]
-1- | =2- | -3- | -4- | -5~ | -6- | &8 #=
0 X [37.03 37.03
0 119.99| 0 19. 99
X 13.34] 0 13.34



